ARNTEREFSREHFEHT - AOKEFR

Fri28FE 1 ARBHE
Trk284%1HXH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BRAZERAO 28,161 35,639 38,216 73,855 BARAEFRAO 28,108 35,600 38,148 73,748
SNEAERAO 206 251 241 492 SNEAERAO 202 250 234 484
KENMAB 28,367 35,890 38,457 74,347 KENHAB 28,310 35,850 38,382 74,232
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,101 1,436 1,411 2,847 B — Al =2 248 302 322 624 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 796 876 912 1,788 b ¥ /N 126 157 176 333 HeE—TH 796 887 999 1,886 wu&aE—THB 108 138 142 280
2 T 75 Hh 35 AKHET T 205 206 236 442 =H 115 148 161 309 WEZTH 556 641 741 1,382 WUE=TH 0 0
ZA T B Hh 3 N 873 959 1,054 2,013 A T S B 67 86 95 181 WE=TH 264 317 358 675 WILE=TH 0 0
TR s TR 1,053 1,239 1,402 2,641 KEf 210 255 254 509 WEMTH 202 248 286 534 WILEMTHB 0 0
T/ E i H/E 476 555 597 1,152 EEFE 18 27 27 54 WEATH 768 1,005 1,114 2,119 BWILERTHB 42 61 65 126
K2 A EELW 196 216 271 487 FAFTET 175 175 215 390 FENARTH 83 111 120 231 WILEARTE 156 220 217 437
ma 104 144 151 295 T Hh i FhTET 132 148 158 306 W&EtTH 190 242 269 511 wWLUEtTH 368 539 550 1,089
iR i iR 262 310 359 669 AL HET 130 166 151 317 HES—TH 0 0 WILE/NTE 0 0
AR s ZAR 1L 97 104 140 244 Fa ET 176 218 256 474 HEEZTH 239 324 326 650 WILEATE 2 2 2 4
KE 865 1,002 1,033 2,035 il 17 25 30 55 HEEB=TH 8 10 9 19 wua+TE 180 262 262 524
dt 2 [E iz dzE 463 506 527 1,033 i = Hhig FRET 36 31 42 73 HEEMTH 0 0 BWuE+—TH 121 191 191 382
ot B st i 163 186 195 381 BRHET 100 111 122 233 HESRTH 306 363 411 774 BWuE+=TH 0 0
FantEf 194 218 230 448 % 88 20 121 211 HEBARTH 178 217 252 469 HLUE+=TH 29 40 37 77
4 this He 2,859 3,451 3,887 7,338 RifiFE 141 149 187 336 HEELTH 347 393 448 841 INEt 1,006 1,453 1,466 2,919
HZE A Hhis HES 1,762 2,102 2,334 4,436 AR o ERE—TH 51 57 71 128 HES/NTH 382 480 522 1,002 =1 12,403 16,911 17,828 34,739
ARGt KZNE1~4TH 782 973 1,067 2,040 BRER_TH 286 337 355 692 HESNTHE 302 315 366 681
a2 & Ki2)I185~9T B 1,489 2,296 2,331 4,627 EREE=TH 50 69 80 149 KZEJNE—TH 342 419 454 873
W R A thig MWERE 2,247 3,303 3,361 6,664 il 63 58 71 129 KEZJNEZTH 97 119 132 251
¥ 35 A Hhig mES 2,258 3,333 3,382 6,715 izt 36 24 39 63 KZJNE=TH 343 435 481 916
LA Hh i wIlE 1,006 1,453 1,466 2,919 it 40 52 53 105 KZJNEMTH 0 0
=11 19,251 24,868 26,346 51,214 hnyE R ER iz INGE 59 57 60 117 KENEBEETHE 244 404 391 795
INETF 73 68 74 142 KZNEARTH 550 789 792 1,581 (FH)
AARAERHE- A O£ (IHILEE) §4 5 77 81 102 183 R2NEETH 329 497 518 1015 X5 s 4 5 % i
(LI EH 26 37 38 75 KENEBE/NTBE 366 606 630 1,236 mmEae—TH 161 197 207 404
1T I 4 BRI L 5 = &t HERE 101 104 115 219 KEINEATHE 0 0 mmE&e=TH 143 154 172 326
5 F st tisE 183 247 292 539 fit] W} 116 139 148 287 MWREE—TH 504 766 724 1,490 EMEXE=TH 138 147 176 323
[Fap il 412 565 603 1,168 TR 98 109 138 247 MREEZTH 124 200 192 392 AmEemTH 115 132 146 278
A6 3 B #thig FEE 407 575 584 1,159 [i] 47 52 57 109 MEE=TH 247 353 393 746 EMXEETH 55 63 62 125
T E i MTE 665 879 918 1,797 HRIR Hhig H 33 38 39 77 MREMTH 251 344 370 714 mAMmXEaNTH 165 185 211 396
HEF 55 55 82 137 BRI 65 67 83 150 MWRERTH 266 393 401 794 mmEaetTH 156 176 207 383
= BE i deiAT R 137 178 186 364 IhEF 72 80 97 177 MWMEENRTH 358 509 509 1,018 mmxa/\TH 190 216 246 462
B 232 345 374 719 mp 38 44 53 97 MWREETH 277 442 445 887 mAMXaEATH 187 210 235 445
e 45 45 70 115 L3 G 36 40 45 85 MWRE/NTH 220 296 327 623 mmEae+THE 180 209 222 431
a1 54 75 92 167 aih 34 38 43 81 wmEE—TH 279 321 323 644 mEmnxeE+—TH 254 299 300 599
EI\2 129 152 200 352 B/ 13 15 20 35 BEE-TH 365 540 534 1,074 mEmnEe+=TH 214 271 272 543
IRt &R i £33 75 104 119 223 N 5 5 4 9 BEXE=TH 355 552 591 1,143 mmEae+=TH 151 180 196 376
tiRa 52 64 73 137 7/ 31 4 44 85 HwEEMTH 294 435 464 899 mEmnEE+mTH 121 147 175 322
a5 97 137 140 277 BTF 21 27 27 54 BEERTH 366 580 594 1,174 mAnEae+aETH 138 175 169 344
tiae 154 174 206 380 4 2 ik ETF 16 17 21 38 BESNATH 328 582 555 1,137 =X 2,368 2,761 2,996 5,757
+IR7 66 87 81 168 e 10 14 11 25 HwXEELtTH 271 323 321 644
LRt ithig +IA8 92 122 114 236 =S 8 6 9 15 wmEE/NTH 0 0
ti¥a9 111 134 148 282 it 3 5 4 3 7 INET 11,397 15,458 16,362 31,820
ti\E10 89 102 127 229 PNy i 14 12 16 28
WEXN 25 25 28 53 it 32 42 52 94
= REX S 5 5 6 11 [R5 46 56 72 128
LR 76 62 74 136 FIN% & g Emxs 2,368 2,761 2,996 5,757
=11 3,161 4,132 4517 8,649 =1l 5,749 6,639 7,353 13,992




